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General Instructions :

(1)  Answers to questions carrying 1 mark may be from one word to one sentence.
(ii) Answer to questions carrying 3 marks may be from 50-75 words.

(1ii) Answer to questions carrying 4-5 marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

. 9ot 3T THISH el dcl ol 3ATeeh ITANT TGl wiF Uil gl ol del, Tadisi!
SATIC o TThIVT AT THEH0T § TTH Toh TSl Bl & | 39 SAfdehiel ¥ 37! ST I
HL Tl 8 | TE TR 1 3AToid L & 8 a1 HIrHd €9 § 3794 3ITEEh! ol ATHIRT i
A Ll & | Teh TRANSHT b Taii¥H 5q 36 G JTdiad hRIiel Uit ehl ATa9ehd & |
3Y 39 TRT T YW 910 H 373 HEH o UTETd i ol AHTEHT & | HHH] hl ol Jaeeh
3RS &=, STfurfsres S A fad 9T i <hl SRIfa s AEavIehd1stl § Tl g1 =&l |

g ST Toh shrat 3791 Stfdier shrieliel Yol STavdehdiai i gid aq e
EGEZ R I 1

‘“Vani O1l Refinery’ 1s a large company, engaged in processing crude o1l and refining 1t
into more useful products like Petroleum, Kerosene, LPG etc. It has build good

reputation over the years. It has been consistently earning profits and paying regular
dividend to 1its shareholders. It needs additional working capital immediately to
finance a project. It expects to return this amount after seven to eight months. Ashish
Batra, the Finance ‘Manager of the company does not want to get into procedural
requirements of securing finance from a Commercial Bank.

Suggest how. the company can raise the required finance for meeting 1its
additional working capital requirements.

2. i hHIHT o UTH T I g dUT Y&-4- I8 Hl =T8dl 8 Toh *Faell He&Al U 3ok =0
T8 1 g1 TorauT <hl <hIF i XAl STYAIEH 7 39 I h FHYT H HRU G191, | 1

It the company has enough funds and the management also wants to have greater

control on the channel members, which channel of distribution should the company
adopt ? Give reason 1n support of your answer.

3. Togua-Tasy <1 3790 €S | 1

Give the meaning of Marketing Mix.
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4, Wb Ta¥epe THHIAT hroHl |13 SRl | MUl 9 ToRINdst WS f9iy= w@iel
foRepe SITSTR | Sdd TohU SiE ‘shell forkepe’, “Wie Uldel’, “hithl Siietl $cTig | 1
fope & Tohel o ool ol o TIf9= T ° 9 q91 foepel o faiy= el 9
A3 I SHTA P E Y |
ORI <o ST % &l Tl shl T8 hilT |

‘My Bakery’, a biscuit manufacturing company, launched biscuits with different

flavours based on quality and features like ‘Crunchy biscuits’, ‘Sweet Potato’, ‘Coftee
Jolly’ etc.

The labels on the package of the biscuits are with pictures and different colours
indicating and specifying the tlavours of the biscuits and their contents.

Identity the two functions of labelling discussed above.

5. UH TS h HHCHS I HIFT I 8 ? 1

What 1s meant by ‘functional structure’ of an organisation ?

6. SEd foAfties qur o fq soraeiad 3cTel hi Teh (AU Srul § | I8 Th 3T J&aehi,
HIIq-3UehTUl, SITSATLTH 3ATie TEGHAT H TUT gELl 3T AU & HISTE B ATl H SATIN
Ll B |
ST T HEIcHS BrEl-AT NEH IdTed, fauvH ug fog & y=-19= ey 9 | g
HITch LA IcATGl =l @@ Hd Y T THI-THY W 37h! fafafert i grogha &
STt ft | 39 R0 HHEY O e d shiedTsal a1 Tty foeme sg My | fafimedr <
ST ¢ ©h 1078, S| o J& hiih I AT, THA = T&iehi, Td-3Tehivl, dSqeTd
3G bl HWITSAT aUT UL d HIASA B bl IUHIKIT SARIE’ oh IH=HId IiTiehd
& BT U T3 TET hieh UHd 9 Ja-8 o Teh R <hl TishaT o Teh 0T ol TSI
ThT | 9 90T <hl U&AT hilT | 1

Zamon Ltd. 1s manufacturer of electronics goods based in Pune. On one hand 1t deals

1in 1items like books, music mstruments, videotapes etc., and on the other hand 1t deals
in laptops and mobile phones.

The company had a functional structure with separate heads for production, marketing
and finance. All the functional heads were looking after the products, but at times their
activities overlapped. This led to problems related to coordination and inter-
departmental conflicts. To facilitate specialisation Ramit, the CEO of the company
decided to group books, music istruments, videotapes etc. under ‘Media’ and laptops
and mobile phones under ‘consumer electronics’. While doing so Ramit has performed
a step 1n the process of one of the functions of management. Identify the step.
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7. TS TohH TehR STHTIEAdT o SIRGH ohi &hH hidl & 7 1

How does planning reduces the risks of uncertainty ?

g, ‘diuamue feifigs’ 3t 3Gl & AR | ol Ush el B | T8 37 SIGH bl ToTed™ A
ITed hLdl g aUT 3z feoait o Tai¥= 9T o=l 3 | Wb HIg Yd Ueh ERATUM STLTRA
FHT T TeTties’ 3 UHT €1 a&q AT ahl F0ft o A1 Teet! o ST H JoI3T T | g
INYTRA ‘AR TTfide’ o Jou & Jiuaus [d7ieg’ shl Shrasiiel Ysit shi STavehdlatl 1T
Ugd 9 YN 1 Joci@ hilo | Y & dUdaue TAiids &l hrReia Jsil hl
ATARIR AT ohl THTTId T Tl ©eeh ol ATH IT | 1

VXL Ltd. 1s a company dealing in dairy products. It procures these products from

Rajasthan and sells them to various parts of Delhi. A month before ‘Merio Ltd.’, a
Haryana based company entered Delhi market with a similar range of products. State
the mmpact of entry of Haryana based ‘Merio Ltd.” on the working capital
requirements of VXL Ltd. Also, name the factor affecting the working capital
requirements of VXL Ltd.

9.  IUHTHKATSHI oh GISEhIUl H IUHTeRIT-HIETU o HEwel o feheail I (G371 shl HHHATST | 3
Explain any three points of importance of consumer protection from the point of view

of consumers.

10. ‘a9 Ud 9l o 3T ierd hHATE &l TURT i o 7w feu I a1 fopgl i Ttz
U] 1 Iooid <hiToU | 3

State any three financial incentives other than ‘Pay and Allowances’ to motivate

employees.

1. ‘A= 9 ‘Tachientol H = ATYR T 3T=HE iU :
(1) ST hl Taa=rdT; (ii) T=afd am (iii) 3= 3
Distinguish between ‘delegation’ and ‘decentralization’ on the basis of

(1) Freedom of action; (11) Status and (111) Purpose.
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12. Torcfa g1 & &9 ° fomivg o@q 9, 3794 319 AHY i, Uk A8 GIISHT o GU
9T UTes %19 2, Tk s-0d Aol | I et 31 § off, e UEt wryr fNE ofmy
STHAT 9T, ek T i 98 el H Sad 9gd d Mgl o arkdiaeh 31 i Tl 99 Ghl | I8
fordi wee < & § ot Wi &1 o1 | 391 & 8l, HA o H© W hl HFAJIE % ¥
TS | 39 YhR H Th3T 1 1 Tob 36H Igd-H1 3TRIIGAT 311 715 Torereh LUl |3l shT Y
9= &1 T | 3

(37) @A I 3-HT ° GEIT <hi & T8 11371 <hl U8 shifu |

(9) <@ gRI 9fasT 4 3794 G0Nl &l YYTERell S 7 3ued (31) T Uga ! T3
ST ohl G A a1 Teoheal Gl 3T hl Ieoil hifwl |

Lakhan, an expert in the area of Financial Management, sent an e-mail to his
subordinate Thomas about a new project for a client in France. Though, the mail was
in English, a language known to Thomas, he was not able to understand the actual
meaning of many words used in the mail. He was also not a specialist in the field of
Financial Management. Not only this, some portions of the mail were translated from

French to English in such a manner that many mistakes crept in, causing different
meaning to the message.

(a) Identity two specitic barriers to communication in Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to overcome the barriers
identified m part (a) above to improve 1n future the effectiveness of his
communication.

13. TMEH e & fog gea-ae Fiemy @A a1 Y-y Hegres ‘3Tqa 9ivel 3794 Jadq
T o AT (eh1eh 101 B Tod Uehizid i o HId o o8 § ==l ol 1@ 9 | ‘Toad fUsa
9 a9l | 5078 37 &¢ T & ol 3gYd hid gU ey 4 3 g fGa1 b qwHar
T & ST Sslfeh 3Tt FIST 30T bl Taehed ATadT T |

U] 1 I YT ATl sl €I H WA g IdHH FI o HTY[ehIehUl B ST
fopU ST aTel ToI-H1d ol G ST | I8 U 4 & T &\ 8 W@ 9 a1l 39 €l
HIehl bl I THTET T I ISR H Teh1ST ST AT 7 | 3

Neelabh Sarin, the Finance Manager and Atul Chopra, the Managing Director of
Ghokerns Ltd. were discussing regarding the source of finance to be raised for
modernisation of their existing plant. Quoting that ‘Sensex has soared by 5078 points’
in the last three years, Neelabh Sarin suggests that equity should be preterred while
Atul Chopra wanted to opt for debit.

Keeping 1n mind the high operating costs of the company, suggest the source of
finance that should be used for modernisation of existing plant. Also, explain the two
factors highlighted above which should be kept in mind tfor taking this decision.
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14. ‘O HYROT o 99T Ja=¥ b A0 B <hl YTk | ToTT ST oTel =0T 6l 9980 | 4

Explain the steps to be followed 1n the process of controlling function of management

after ‘Setting Standards.’

5. GR JAUH HMaeh UMY o (070 AL o1 | 98 Uidlgd c@dr o 6 3ud
ST -TUA T UG TR IGeh! AT BT T AT 2eh Tt i et Taedt 7 | 3791 aiianiies
31T ! FGH b 1T I Teh TefthA-HaT IRY A I HUR To7T | I[E H 30 hdol TS |
& feftha <t Teettg T Iy foparm | 3ot | o foam—famst < uvanq ag gfafes wiee =
S Al dIR HLdl ot | 3 13T o a9 § AR i giad i & 10T 384 Teh
Fd-H FATHS i dIR TohT, 38 ST aUT 36 ¢ THRR-UAT & HILH ¥
1T 3TN TohAT | 38 Tt b Torawur &q @l TeIdiu1 shid STel TTgehl <hl I T4gferd <6l | 4

3R 4 a1 U1, Ui &1¢ H I8 TR Uhg T | YUY U8 § 98 3T
20% AT 3AfSTd hid § T T3 |

() IUMTERITSAT bl 37U TSR TATSAT o TR H TEIT i o (oId T gRT ITAT H 18
TS Jat~ [ ehl T&aH hifaIT |

(@) IEGAT T HATAT b YU b foT¢ SR () H T8 T3 Jac-—ToI1e el Tehral i
YIHehISAT hl Jeeid hiaTT |

Sara was pursuing her graduation. Everyday she saw her mother working tirelessly at

home after coming back from her work-place. She decided to start a tiffin service to
increase her tamily imncome. To begin with she started supplying tiffin only 1n the
neighbourhood. Everyday she detailed out the menu after consulting her mother. For
informing the people about her service she designed a beautiful informative pamphlet,
oot 1t printed and started distributing 1t through the daily newspapers. She also

appointed two delivery boys to deliver tiffins.

The business was slow to begin with but picked-up well afterwards. She was

able to earn a profit of 20% of the revenue 1n the first month.

(a) Identitfy the promotional tool used by Sara to communicate to the customers

about her tiffin service.

(b) State any three roles of the promotional tool 1dentified in (a) above in marketing

of goods and services.
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16. 3791 greafeh To=imer™ udier utd o o Uv=ld, 15 99 i 3 ° sias 7 faare™ 8ig e
3R 319 TUar =6 31efia TISTeqor 9o ehidT 3ARY oL TG | 36h TUaT, Teh GUiig ferteli-
el 9, TNigiH Igd-Ht -l | 6 foham 41 | 384 Uidica 319+ TUar = "Y1 W
STHT 3ARH KL TG 3N 98 3= ™ Hid U dgd & § ¢@dl U7 | g Th 31=al
IR AT 37X I8 1 hl doh1ehl ol Sog &l WG T | 379 Sfdg o TUdT 4 39 HaaH
% Gla-Ud THEH 3R L QU | F9 ofiaq & AY-91Y Sfdg 4 3= Tl I I
foram 3R 3CR T Ueh UlHg Tosrel -l &1 71 | 9€ SHAEETRe 8-l 9§ Tosiet! o i
ST oh ToTU 3 FAT ARY T 16T | 4

(%) U 3T Teog U Fied TiR1eq0 shi Tofer =h1 919 Sarsy |
(@) TIRE0T YTe i oh YT SIS ol TTd BiH dTct Teheal di- STl ohl 3¢o1@ hiTaT |

After passing his secondary school examination, David left the school at the age of 15
years and started getting training under his father. His father, a renowned electrician,
had worked for many companies. He everyday started accompanying his father on
work and watched him carefully while working. David was a good learner and learnt
the techniques of work quickly. Now his father started passing on the tricks of the
trade to David. With the passage of time David acquired a high level skill and became
a well-known electrician at Indore. Big business-houses started calling him for

electrical-wiring.
(a) Name the method of training discussed in the above para.

(b) State any three benefits which David could get on being trained.

17. u.dt.uH. fdfiee 3 lTa=a Te9 o Ush [Use &F H S8l IR gR1 3T TgrR—dr e hl
STl & 9T F Tl U W 3UTeY 8, Ueh Soilddeh 3YhiUI] o HHIUT bl hIT@MT T
TeRdT |

Y 9N 4 §f 1. TH. TIHS U ITGI ohl hH TNTd UL IcTICd ehieh YA T
3TSId S | A% §3 | SHBT RN AT HHATT oh JTTHRT T ITAGIcA! shl HHTSAT <l
OIS B9 9 TRYTVT ST a7 SH o Ha9 Ao aq (&= f9ET bl Tiaiaiei i

FHf<Id Td Tehlehd AT | HEAH! o IcATGA Ta=4eh hl hH oIl I hed HIoT <hl ITTeHdl
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£ Teh JATYfehlt b1 ¥ U1 el | 6k STIHICH & SHT HHH! o Ja-g-T¢31eh i Teh I
foT@T | b 38 1A i aT Tod Ja9eh & o I hid o ShRIA9Uh ool
HRU1 AT &l (¢TSI Hehl | 4

() ESH o I8 TR hl UG hITSC T8 R HRITdH fooa gu an HruH

hH Yo G ] HIA YTod i bl ATH &l 331 Hehl |

(W) I (h) H U9 U TS o Th b Ueh ATH hl Iooi@ hiloTW oT8eh! Il
Sqad TRATA A T8I hI T8 8 |

(1)  T..TH. TTHdE g THTS hl TV TohU 7T fehral g1 el 1 Hi Ioci i |

A.V.M. Ltd. set-up 1ts electric appliances manufacturing factory in a backward area of
Himachal Pradesh where subsidies are provided by the government and labour 1s

available at cheaper rates.

A.V.M. Ltd. was able to produce 1ts products at low cost thereby generating enough
profits 1n the first year itself. It was because of the fact that the limits of authority and
responsibility of the employees were clearly defined and the activities of various
departments were- co-ordinated and integrated. The Production Manager of the
company also came to know about the availability of raw-materials at cheaper rates
from a vendor. For this he wrote a letter to the Managing Director of the company for
getting sanction. But because of procedural delays in getting this sanction and

procuring funds from the Finance Manager, the order could not be placed.

(a) Identify the type of organisation, that led to procedural delays and because of
which the company could not get the advantage of procuring raw material at

cheaper rates.

(b) State an advantage of the type of organisation i1dentified 1in (a) above other than

those discussed 1n the above case.
(c) Also, state any two values communicated by A.V.M Ltd. to the society.
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18. 3TEHGIEITG o Ush IcUTGH Ud WEH THHUE Wied’ 8 SGH 4 4 TH3TE M Td 378 T-HY
Terditd shT- h SR Y TohAT |

3G 9N o Ych HIE oh [T THATNTd Yl 9T 20% TH TSI shid B EHGIETE o (a1
T W Tl YR hl TH3TEAT bl forshl o JaIIH™ ohl AT §HT3 |

Tcdeh a8 10% <hl Sl o 1Y I IqH 98 o T8 T 20.00,000 ohT Tasha @& i
TeRaT | 4

$Geh UTETq 3G 31 ATYfiehdi3] o TIF B T HYIid Toht {8 a8 sl 71

% HUT | IS Fhel 83T TAT SHAGH 379 AT <l YT hid H 6 Bl Hhl |

(3) I9Ued | gl <l 3gYd hid 8T Tehral gl TR shl AISHISAT hl U&= hIT |
(F) IuR (31) H Ug=HI 713 TSI o TehRI T 37Y i ST |
Vardan Patel started the business of preparation and supplying sweets through home

delivery at a production cum show-room "Express Sweets’ at Ahmedabad.

He made a plan forecasting the sales of different types of sweets in various
localities of Ahmedabad for each month of the year to earn a profit of 20% on Capital
employed.

He set a sales target of X 20,00,000 1n the current year with a 10% increase every

year.

He then set the criteria for selecting suppliers from whom he would make
purchases of raw material. The planning paid off and the business was able to achieve

1ts targets.
(a) Identify any two types of plans by quoting the lines from the above.

(b) Also give the meaning of the types of plans 1dentified in part (a) above.

19. To<iT TSR o Tohral IR S| ohl AU ehiTly | 4

Describe any four functions of Financial Market.
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20. TUH WAl & S9™, S T2 o ToTT BTk 8, 379 719 H UTg S dTell STel-g[eAT <l
YA hleh G A TAUE ITUTGH hl Ueh hiuH] Gldeh TS’ shl TUTUAT bl | IcUTG hl
Uchsl YISO -3 T AT 36 9 Hed, T, 3oy, IUANT-7d - Heel a1 31 delyd
13T 1 Taaur A7 | 39 W gfieh IUMTRAT-Ha13Tl a1 Reprrd g’ o rqeh foeun
S8 9T, AR e YT 3-Hel 3Agel Hi 2t | TUUR 3T AN Bl T a7 38 YIHg
SITAT & 37T THet 3R 8l 7T |
() IULTR TTeld IS b feheal @l ST <hl U8 <hilsTU dT I THETSU |
(@) UH Tohegl gl el 1 Hl Jeoi@ hITSTT STl Gliieh TS g FHTS sl AEITNA TohT T

3 | 5

Adit1 set-up a company ‘Dantik Ltd.” to manufacture toothpastes using herbs found 1n

her village instead of chemicals that are hazardous to health. The package of the
product was eco-friendly and had details like price, quantity, ingredients, directions for
use and other relevant information. It also carries the contact details like address,
phone number and e-mail 1d of ‘Dantik Consumer Services and Grievance Cell’. The
toothpaste became very popular and she started getting orders from reputed traders.

(a) Identity and explain any two Rights of Consumers discussed above.

(b) Stateany two values being communicated by ‘Dantik Ltd.’ to the society.

21. U <l heal 9Ig [ARISdI3T] ol I <hil9u | 3

State any five characteristics of co-ordination.

22, diam fafids us sgusi wwmsh ot 2 frees geres aiftred Stdt. & 7 | 98 fova
& fafir=r STt & TSI <l USHTR I i 2 |
T Th UHT ol 8 T 38k RS qFiawol, Jaq U o 6 GuTeHTsti % HH
AN ™ A b WH ¢@d & | T 6l Gad-TNv-HEhid g a2 fafir= <un o @
WeWTd UEd STaTaiyl § 91 -81 R d & | S [ & Ja-4eh I a2l = T
SR <d & forees gry it | e qe st giafyad 2t 2 |
IE THE o TSI B UREI e [I9amd ua 319 <ht H1eHT bt off Ticanfad it 8 | 9 TR
THE I hl TIcHIEd hieh G foTfHeg 3794 LT hl UTed hid H THA g3 & | THT hish
S TS o Ja-4eh Ja-4 o H© HGIl ol a8 L R & |
T8 feredl <1 fergTeit o1 Tg=THT qe J9Esy | s
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Deewan Ltd. 1s a multinational consulting company with 1ts headquarters at
Washington D.C. It hires young people from different countries of the world.

It 1s a company 1n which people dream to work because of its work-environment,
pay and growth prospectus. The company has a culture of open communication and
people of various nationalities work together 1in a discrimination free environment. The
behaviour of managers of Deewan Ltd. emphasises kindliness and justice which
ensures loyality and devotion of workers.

It also promotes mutual trust and belongingness among team members. In this
way management of Deewan Ltd. 1s able to achieve its objectives by promoting team
work. By doing so Managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

23, ‘T saifaead yrgae fafiee’ # gere Yerue % <) ue e 9 | o 9HgE yaus arel
< IS b 3L 9 &l Teh IuPerd TTAT T’ sht qg= hl a1 38 HEeh Te-4eh o Ug T
qeI=Td s T | QHY UE o Tofq Ta4eh T o Weh TATUH USiH! ohl FERIAT ol GT HeAH
1 T4 TohT | ®: HIE 9T=Tq W A <@l fob Tawam®’ o1 [48qred Hef|’ o sureH &
e U1, FEY Towemd’ =1 Jrdr gofiq 9 o off | 31d: el 3 faui forn fop wioss 4 =7
fepelt sTall |1 & hls- M g1 T | 6

Uy feheal I SHRUT ohl THSATSU 5ok SMUR 9T 10’ 3 Iulerd ot foram g |

There were two vacancies for the post of Assistant Manager 1n ‘Gyan Electrics Private
Ltd.”. ‘Parth’ the Human Resources Manager 1dentified one suitable candidate
‘“Vishwas’ from within the organisation and promoted him to the post of Assistant
Manager. For another post, the Manager ‘Parth’ took help of a placement agency and
selected ‘Saleem’. After six months, Parth observed that “Vishwas’s’ performance was
much better than ‘Saleem’s’ performance though ‘Vishwas’ was less qualified than
‘Saleem’. Hence, ‘Parth’ decided that in future he will not make any appointment with

the help of an outside source.

Explain any four reasons on the basis of which ‘Parth’ would have taken the

above decision.
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24, FE-TAHA-STS 1 &1 AL @ ? 36 S6R H T3 Tiayfaal o e b1 iy forfemn b
HHHATRT | 6

What 1s meant by ‘New Issue Market’ ? Explain the various methods of floatation of

new securities 1ssues 1n this market.

25. HFER ST el TIET GRI B o &3 H dsil 9 g3 WId o 91 G’ A9 Teh USIE i
TS TG forentd TohdT T-T 8 9T S8 379+ IH TS hl ANTIEhdT IT< & el & |

3HH TS oh LI W BT o ITANT bl TR0 Iq &I T8 & | GAW b Td @A
Tl TR & ™ HLAT & AT AN o YT o IR UI <Al & | T 3ATE Fa-TaaHl i 3R
SUTRATIAT eh GISEhIVT, SIS <hl THEAT AT Sid <hl TUTEIT W g8eh THTE o I6Td 34
o 1 FEYHEIYES FHET BN | g, TS AT AFE TR W faf= FHufieEr qen
TSI o AN AT U o6 HIETH ¥ W FhR HHG a1 JefiHl Sifed o 3UFMT |

Hde B U HATUsh Hewqul q{Heh! o1 a8 &l 2 | 6
e 31=ae | qHteRor & fafir= 3l R ==t AT R |
JURTerd H Uferii sl 33d Hd BT fohral 19 STATHI shl &= shifSTC qUT 32 FHEST |

With rapid advancements in the field of replacing manual work with machines, a robot
named ‘Sujan’ has been invented and developed and is likely to get the citizenship of

the country of'its.origin.

It has.led to a stage where machines are being used 1n place of human beings.
‘Sujan’ 1s doing all types of work whether routine or hazardous and even answering
the queries of people. However, this 1ssue has to be carefully looked into keeping in
mind the consumer attitude towards product innovations, problem of unemployment
and 1ts 1mpact on the quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the Indian Government 1s

playing a very significant role in balancing the use of human and machine power.

Various dimensions of business environment are being discussed in the above

para.

By quoting the lines from the above 1dentify and explain any three dimensions.
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